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Use the following constants and formulas when reqguired / 5% el 00 S daall 5wl saldl aadde

1, — 4T=x10° T.m/A

§p B.ai=0 @y = BA cos Av,=—9P8 __ d(pacos0)
. o It ot
||
&Vd=—ACDS§d—B'—BCDSﬂ£ + wwABsind §E_d§=_ ddg
L dt ot di
I =2
F,=evB = Fo=¢eE E =DpB AV =véB W= ! 1:?,: (1— e/ ) ar
NPy {nf}(;,n ni:}{A} 5 5 CE{:PJ*E[JB:]- d(1.i) di
— " N— o — M EA i ! —=— _—— % P e
= i i o= AV, dt dr Lar
nBa | N (e ni) [?T""lzj . , _ i 2 I cdi o
L —— 7 = ; — hrﬁ!”nrtrl flni-‘i'rnd — {P\.‘?T‘Ub Fry jﬁ LE —+ iR = L’;mf
) Vo e E — L } . = .2
i) =—+0 1E(l—E' I{UH}} | RLT R ' i(t) =1 e ™ U, = %% Ug= L1 Li
‘ i = Isin(wr—g) . -
VT W S e e e e e - Ip= R — "R ginwr = In sin it
v, =1 _ sin it = V- sinwt R I~
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Part 1: (MCQ) e saa gall dlasY)

Q1 | Determine the direction of the induced current in the Alud) ddla 8 Gaadicial) JLall slad) daa | 1o
wire loop

A. | Clockwise dclud) @ i aa

B. | Counter clockwise deludl @ lBe (use

C. | Right Cpaall

D. | Left Dbl

0508193273 S Il Jus




Q2

Determine the direction of the current in the two
loops at the moment the circuit is closed only

s 5 gl (3dle) Adaal & opilall & Ll oladl 2aa

20

The circle A clockwise and Circle B clockwise
delid) i lie QABSJ.‘\\ASU:\SM\ gk 1 QAASJ:!‘JS‘

The circle A clockwise and Circle B counterclockwise

Z&M\QJ&UJSGBSJS\.\JUKGM\QJ& &AAEJ.‘:\AS\

The circle A counterclockwise and Circle B clockwise

B&M\QJ&@BSJ&\AS\J&SM\@J&GUHSSASJSHS\

The circle A counterclockwise and Circle B counterclockwise

deludl o Be usSe B3 ilallg deludl ulBe (usSe A 5l

Q3

What is the direction of the induced current that
produced in the loop shown in the figure, at the instant
that the loop leaves the uniform magnetic field pointing
out of the page?

(JSE) B A gal) ABlaY) B il Gaeaal) Ll olad) 52 La

8 _yadia aliiial) palinal) Jlaall 4ABla) Lgd & i A dBaall) A
fdadall z A N

Inside the page plane dadall Ja13 sladl

Out of the page plane. dadal) g A slaily

Counterclockwise delud) @ lie usSe

Ol o | ®

Clockwise dsluad) e aa

3

D
4 0 ™%
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Depending on the shape, at what angle 8 will the G daS (oS G dugl) o) M (JSAN e die) | Ao
magnitude of the magnetic flux will be (0.54B)? ¢(0.5AB) (sukalizal)
a) 90°
b) 60°
©) 0°
d) 30°
Q5 the circular loop in the figure has a radius 50.0cm, and Asl ) JS& 5 cam 50.0 e Caai Ld JSAN A 4 il dalal) 50
makes an angle of 30°with 4.0 T magnetic field . what is Dt Lo Slis 4.0 4ol pwdaline Jlase ge da 3 30 W laie
the flux through the loop? faalall e gdail)
d R Z
) 0.027 Wb e
b) 0.016 Wb v B
c) 1.6 Wb 30 =
d) 2.7 Wb >
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Q6 | In the beside figure symmetry copper loops X,Y,Z which | W e ) ¢Z Y X dilaiall (ladl) cilila ¢y glaal) Jo&) A | 6o
one have the highest magnetic flux S pushliie 30 o

A. |Loopx X Adlal)

B. | LoopY Y 4dlal B

C. | LoopZ AN ﬁ’:

D. | Loops(zandY) (Z,Y) Cplad) Z

Q7 )Which of the following diagram is not correct according to Faraday ’s experiments?

€l el g maia ye 45Y) cillaladall (e s1(7 0

' 3
F = . B.
LN ~ s
I
[ === l’_),' D
LN S—il‘_‘i; it ls-
= ~
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Q8

According to the figure ,which of the following is
corresponding About magnetic flux from surface A ?

A ghaed) (o oomhaliial) (3310 aa (380 g5 L Laa o) (JSAL Lad g

8

2A

Pmax 3

2A

Pmax

2A

Pmax

BA

vilwjull bl

Pmax

When can we use the equation (AVind=WABsine)to
find the induced potential difference?

Gunieuall agall 5 alayy Aalaal) sda aladin) li€ay i
(AVind=WABsine)

9u»

A and e are'constant

e and B are constant

A, B, and e are constant

ol o | »

A and B are constant

0508193273 S Il Jus




Q10 | The figure shows a bar magnet moving vertically upward Lakad | 88) Cila slaily Ao Gl ) & jaly Lunad Usplalina JSAY) pusagy | 100
toward a horizontal coil. The poles of the bar (3 (enall) Guphalinall @ 38y Laie Y, X = Lagad) JLdia Cpanlaliaal)
magnets are labeled X and Y. As the bar magnet approaches slad) (uSe) JSAl) A e gall ola¥) (A Ll ¢S 1L Al gy calall
the coil it induces an electric current in the ualalinal) ad b L _(u_x;‘g\ Oy Ay die deludl o i
direction indicated on the figure (counter-clockwise as viewed ¢danaall
from above). What are the correct polarities of @ *
the magnet? 0

A. | Xis S-pole, Y is N-a north pole.
B. X is S-pole, Y is N-a north pole. :
C. X is S-pole, Y is N-a north pole. v
D. X is S-pole, Y is N-a north pole. —
Q11 | Which of the following is not a correct unit of ¢ muhlinall saxill dspmia Ll 3o g ol U (e (6] | 11
magnetic flux?
A C|V.s
B. H.A
C. | T.Am?
D. | H.C/s

0508193273 S Il Jus




Q12

As shown in the figure, calculate the magnetic flux that
passes through the upper surface of the disc

J&Héu\whw\ééﬁ‘%\ cM\é@bﬁﬁM
Ga Al s glal)

120+

4.7x10~* Wb

-47x10"* Wb

1.5x10~* Wb

o| o, = =

-1.5x10"* Wb

Q13

What is the magnetic flux through the loop of 2.2 cm
radius, if it is placed in the constant field B=10 T as
shown in the figure?

ca 2,2 L kb Chual jly AN ABLAY) e il 38000 g8 La
fJSdl) A rmdage 92 LS B=10 T <ol Jlaal) A Lgaidag a3 13)

1.4x10"2 Wb

1.8x107%2Wb

0.15x10"2Wb

o| o =| »

7.4x10"*Wb

130
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Q14 A long wire carries a current, i, as shown in the figure. A square dals & e KA B e 9 LS ¢ ey (gl el Y 140+
loop moves in the same plane as the wire as indicated. In which A gy Yl Lsi = ase A LS Ll (5 glosa (pudh & day ya
cases will the loop have an induced current? eAElall  Chaie L
a) Cases 1 and 2
b) Cases 1and 3 t TT; - DI/' -
C) Cases 2 and 3 ﬂ ﬂ v
d) All the loops will have an induced current Case 1 R ... Case 3
Q15 | A solenoid with 200 turns and a cross-sectional area of | Jlas 4l <60 cm? (aall 4xhie dalie 48l 200 55 sl cile | 1500
60 cm? has a magnetic field of 0.60 T along its axis. If Jaall G 1Y) o ) saa Jsha (Ao Dd 0,60 B2l oenhaling
the field is confined within the solenoid and changes at Gl Al 0.20 Jamay g (ol calal) ks 1) puana
a rate of 0.20 T/s, the magnitude of the induced tOsSe (ol Calall 8 Cantiiall dgald) (38 Hlasa
potential difference in the solenoid will be:
a) 0.0020'V.
b) 0.02V
c) 0.24 V.
d) 0.001V

0508193273 S Sl Jus 11




16-A conducting ring is moving from left to right through a e e Cpad) ) gl (e Al gal) dBIa) & a1 6

uniform magnetic field, as shown in the figure. In which a2 g0 (bl ) B JSA) B miage ga LS ¢ aliiia (punhilite
regions is there an induced current in the ring? AAlal) b Ciatiua LS
a) Regions Band D b) regions B, C, and D D 4C B (ahlall (@ D 4B (3hblial (I
c) region C d) regions A A bl (2 C 4ikid) (z

&

@

>

e ::-

@

®

@

| & eSSl ¢ | D | E |
Q17 | . The direction of induced (AVind) during electromagnetic rdda) g3 o punhaline g ¢Sl Gl cUESI(AVind) sl olad) | 170

induction is given by:

Faraday's law

Lenz's law

Maxwell's law

o| of =| »

Ampere's law

0508193273 LSS JLs 12




Q18

Faraday’s Law of Induction states that .

Q\ uiﬁ Gaall L;\J\Jlé 03313 s 180+

A. | The rate’of change of the magnetic field lines Enaal) 2gall (358 23ay ewblinall Jladd) 1o phad aas Jaes(]
determines the induced potential difference S Jlae Glan) ) oendabin ) il s g3 (o
a changing magnetic field induces an electric field. i ) "

C. | The direction of induced (AVind) during el 2wl Bac sy punhline g 5l Gall oW (AVIR)  olad) 2aa3 o4 (7
electromagnetic induction IS determine by right hand a4 15 Al gy Cale e ey A1 prdiall sdalixall Jladl o (o
rule

D. | achanging magnetic field through a coil induces a
current in it?

Q19 | The magnetic flux(@g)through a wire loop 190
is varying with ( t ) according to the equation
(dp=-2.4 t3) . What is the induced potential difference
(in the wire loopat (t=2s)?

A. |-19.2V

B. 19.2V

C. -28.8V

D. 288V

0508193273 S_SI JLs 13




Q20 | The conducting rod shown in the figure, is pulled aliiia ounhline Jlae jue JSA) 4 e sall Jeasall s | 200
horizontally through a uniform magnetic field of (o Sntuallagall 358 jlaie S 1Y) A0 A= 5.(B=0.65T)
strength (B=0.65T) with a constant velocity. If the Joa gall Ao ol S8 0.32 s s doa gl 2D
induced potential difference between the ends of the
rod equals to (0.32V). What is the velocity of the rod?

A 19.81m/s B . . i ) N .
B. | 2.08m/s . - - - - P
C. | 0.08m/s .| VL. -
D. | 12.3m/s - - = . B - -

Q21 | |n the figure, a bar magnet moves away from the Dl Al alall e 1y el udaline & ety (JSEN & | 2
solenoid. The induced current through the resistor R AR Aasliall e Catual
IS

A. | fromato b. - 0
B. fromb toa. ~— Bl S| \ \ \
WS w T
C. There is no induced current through the resistor J. "'l."ﬁﬁ |
Laglidl ye Cunise L da g Y il &
D. The informations are not enough

LS e Dla gladl)

0508193273 S Il Jus
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Q22 | A conducting rod is pulled horizontally by a constant Jsb Ae(F = 5.00 N) ALl 3 g8 L8} Jua ga cuuda iaes oy
force of magnitude, (F = 5.00 N,) along a set of (a=0.500 m) 48luia; 4 gnia dlia gall (Lusall) (1o ds gana
conducting rails separated by a distance (a = 0.500 m) Al Ol g uudall) G dlia) Gaay Vg ¢ Gl Jua ¢ oy
(Figure). The two rails are connected, and no friction el dadall (B = 0.500 T) o138 (pushaliva Jlaa 4un g8
occurs between the rod and the rails. A uniform ) (8 ke La (v = 5.00m/s) ALl de puy Guuialll
magnetic field with magnitude (B = 0.500 T) is directed umaail) g Aliaial) (jlaall) o AUl A8l B Giatiaal)
into the page. The rod moves at constant speed, (v =5.00 e jaddl)
m/s). What is the magnitude of the induced potential
difference in the loop created by the connected rails and
the moving rod? ® ®

A. [1.25v B
® @

B. 6.25V

C. 0.25V ® ®

D. 3.25V ® ®

0508193273 S Il Jus
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Q23 | A conducting bar moves along frictionless conducting rails ACiaY) dagae Al ga Glaad Joh o Jage quaad & oy | 230
connected to a 4.00-Q) resistor as shown in the figure Job Ay JS&l A8 mage sa Ls4,00-Q da gliay dlata
The length of the bar is 1.60 m and a uniform magnetic 2.2T 451d aliila wnhlite Jlae (3bayg ¢1.60 m il
field of 2.20 T is applied perpendicular to the Bl A e adga b LaS (g il dga gal) 484 o Lages
paper pointing outward, as shown. What is the applied W e L0 Ay cppand) L) quadall) el st da M) A8udaal)
force required to move the bar to the right with §dua gall unall) 3 L) sladl s 6.00 m/s
a constant speed of 6.00 m/s? AND the current direction in i
the bar
A. |21.12N ,Down -
]
I L ] ] ] L | 8 ] &
B. | 21.12N, Up
] L L ] L ] L ] [
C 4.m§ 1.60m ? Fypplied
. | 18.6N, Down Q " ¢ 0 v 0 e 0 i
" L ] L L ] » ]
D. 18.6N, 'Up !
0508193273 S Sl Jus 6




Q24 | Which of the following is not correct about the ¢ Ol adly Al gl s o blea ol | 24
generator and motors?
A. | The motors transform kinetic energy into electric energy Al S 4BUa ) 4 al) 4Bl J gt S jaall (]
B. Generators and motors contain loops in a magnetic field Bie  Lae Jahs il o 5 giad il aally it sal) (o
C. Generators and motors are applications of electromagnetic i ) ) )
induction (sriliig g gl ial) o o Wbt it S jmall g il all (g
D. Generator that produce alternating voltages and the resulting ) 23 fla 5L dde Lady 10 jia laga g A0 cal gall (2
alternating current is also called an alternators 3 il Ll &\.;Sy S s
Q25 | The figures (a) and (b) below shows two types of simple b Lae &l Adapadl calal sl (e e 53 0lial () 5 (1) OISl ma gy | 2500
generators. Which of the below identifies the correct generator Srmnall Al sall & 53 203
type?
Figure (a) Figure (b)
A DC generator AC generator (b)
B DC generator DC generator
C AC generator DC generator Slin rings
ipn
Commutator ring S
D AC generator AC generator

0508193273 S Il Jus 17




G A8 Ganiacal) agad) (58 (Day Gl Camy JSAN pgls) | 260

Q26 | The figure shows two graphs representing the
: - . : L jesd) Al 3 aaag 40V il I il S ol
induced potential difference as a function of time for sl dsall £ 95 2aay Y u’@‘ ¢! Ol O s
. . . Sl pu S il gl
two generators. Which of the following rows indicates
the correct type of generator under each graph?
AVing AVing
A | a simple alternating-current generator a simple direct-current generator
.:..JJ:".JI_)\:GHL%...._.\AJH JM‘_)@HL*@A.\_P
B | asimple alternating-current generator | a simple alternating-current generator
2 yiall il Jags ol 5 23 yiall Ul Jasis ol 5.
C a simple direct-current generator a simple direct-current generator
etauel)l LAl dasiss 2l ga etaanall Lol dasiss ol ga
D a simple direct-current generator a simple alternating-current generator

__)M‘ JIT_\E.‘I.]:;I.A.H.JJ]}A

A3 yiLll Ll daaiss ) e

0508193273 S Il Jus 18




Q27 | A conducting rod is pulled horizontally by a constant force Cra Z\syxu Jsb e Z\Ll:\ 3 5%y U88) Jua ga Condad G | 270
along a set of conducting rails separated by a distance Olaili(ab = 50.0 cm). ) L3leua Wiy Juadl (dla gall jluzadl)
(ab =50.0 cm). The two rails are connected, and no friction aliile {ouhalite Jlae 43 53 Lagin SISia) Giaay ¥ g (¢ Slatia
occurs between the rod and the rails. A uniform magnetic Z\:,_,u Z\_;JM_. uall) ety dadall (B = 0.200 T)) 4
field with magnitude (B = 0.200 T) is directed into the page. | Z s Zala)) b Gl agal) G4 J)ia Loy =3.00 m/s). .
The rod moves at constant speed, (v =3.00 m/s). What is the em Lag ¢l atial) Cuuail) g dluatal) olusadl) oo
maghnitude of the induced potential difference in the loop
created by the connected rails and the moving rod, and what
is The polarity?
A. 10.3V,Va>Vb
DM, € >< X a X >
B. 10.3V,Va<Vb AN
>< >< - 2 > >< 5 |
B .&).» 50.0 cmm
C. |30V,Va>Vb > > >< > >< > |
PN
< d > < b < <
D. | 30V,Va<Vb

0508193273 S Il Jus
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Q28

Which of the following is not a part of the AC generator?

20 il Ll ol e (e 18 3 Gl b Laa gl | 280

A. | The two slip rings @Y Gala(]
B. The brushes L&Al (o
C. . | The Commutator st
D..~| The armature (€
gl L..i.\A(.A
Q29 | The value of the induced current by an AC generator, is L) 23 yie L Al ge Ao gy Chatiaall Ll A s | 29
changing during one complete rotation of the rotor, at Jaall da sadd doilly ) ) sall am 9w ) B ALl 5 g
what position for the rotor relative to the magnetic field ) i Caniosall Sl A ol anidalinal
lines, the value of the induced current becomes zero? )
A. | When the rotor plane becomes in parallel to the (ablina) Jlaall o shal 4 5l ga ) sall (5 sivue granai Laxic (]
magnetic fieldlines . Jlaall Lght e Gosae sl (5 siose esad Laic (&
B. | When the rotor plane becomes perpendicular to the
C: When the rotor plane makes a 45° angle with the Jiadd) 1o glad e da 5330 La_laie 4y 5 ) sall (5 sia giaas Ladie (3
magnetic field lines RIREEA(
D. | When the rotor plane makes a 30° angle with the )
magnetic field lines
0508193273 S S Jls 20



Q30 | An AC power supply voltage as Vs = 120 sin(2m60t) | V,,., = 120 sin(2m60t) = WS 255 i dilh juae s | 300
Where t is measured in second and V is measured in volt ‘ " ‘ - : - o
Alall jaae g ccal @l ey g Aulill et Cua s
,the power supply is connected to 10Q , Jymss S0 . ﬁj s :V 2 = .;u* Al S
Find the maximum induced current Cadue S ol 2agl 100,
A. |120A
B. 1200A
C. 12A
D. 0A
Q31 | The next diagram shows the relationship between the A0l e Sl Aadlall 3 68l (G A3 UGN daplodil) a Nl ma gy | 30
induced electromotive force (emf) in a generator his number 0.04 m? e dalie 5 441 1200 ldl 2o Al ga & Al
o o 2
of rolls is 1200 rolls and a section area of 0.04 m SR, 4 .8 9553‘ Ll “ i) ) 505 3
Find The intensity of the uniform magnetic field in which the
generator coil is rotated AR
B B T e e SO
o ] __'—J\'I'I"{"" EENENEEN NN /—'—":\
R A R
=S 7/ A TN
A | 7.9%10-3-T = / AN EREEERN) ()
TN T RS
B. 26x1073T G i AR 11 ::1'15‘ NN 3
H0l- - HH S\ /R EEEEEEREN
C. | 221x107°T B e 4
| | | | HED' /N BHE |
-3 H NS
D. 53x107°T 40+ mEEEE | S ] | uE

0508193273 LSS JLs 2



Q32 | What principle do both DC and AC generators work €23 iall 5 yatusall Ll ol ga dnle Jand g2 sl s Le | 320
on?
A. |Lenz’s Law Sl o s3(
B.
Maxwell Law Jipmslia & si(
C. | Ampere Law ;
D: | Faraday’s Law of Electromagnetic Induction oxel O 518(z
(rhaling 5 jeSI) Sall gl Jla ) 63E(a
Q33 | Which of the following is correct about the generator S yaall g Al gally (3laty Lash prana Ly Laa ) | 330
and motors?
A. | Motors transform kinetic energy into electric energy.
2l 5eS Al ) S al) 28U Jsas lS el
B. | Motors are applications of electromagnetic induction, but “acalh ol gl Wel arlaling 5 5eSH all e Gulai ysiad S o) (o
generators are-not. e 5 oSl Caall o0 Lyl
653 M SIS ) Ll pshaline Jlae Jals cilils e ggini &lal ol (7
C~| Generators contain loops in a magnetic field, but motors clila e
do not . . -
D. | Generator that produces alternating voltages and the Gl e XS e 23 yia )L ade Ly s yie laga i Al Glal gal) (2
resulting alternating current is also called an alternator 23 fall el

0508193273 S
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Q34 | A 2.2 mH inductor is connected to a current %l e le L jhan Jpase 2.2 mH 4ad Caae | 340
source. What is the magnitude of the voltage in the Okl S 1E=2.0 s el ie Caadll
inductor at time t=2.0 s if the current I(t)=5.0+3.0t-2.0t*?
isI(t)=5.0+3.0t-2.0t2%?

A. /| 5.9V
B2 6.6V
C. 1.1mV
D. 11mV

Q35 | A simple generator consists of one loop with 0.04 |34 )35 .04 m e had Caal dals (e () K Jasey A ga | 350
m radius, rotating at a frequency of 150 Hzin 1.3 T e W13 T adad cwnhline Jlae (4150 Hz
magnetic field, what is the induced potential abaalll vie dalall 4 Gl 2gall (38
difference in the loop at t=2.3m s? $40) )50 e (at=2.3ms

A. 10.75V
B. 1.3V
C. }-5.1V
D. 1.6V

0508193273 S Il Jus
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Q36 | A metal bar is moving with constant velocity(v) aliile v puhlie Jlaa Jata A5G A8 oy paiad (Gl &l jaii| 360
through a uniform magnetic field pointing Y e o) JSAN B LaS JAal) gl dalad)
into the page , Which of the following most ciliadll s glad) Jo cliadll 48y Ji<Y) a5l Fiay
accurately represents the charge distribution ¢ gl o
on the surface of the bar ? o = S &

= = S & S
®_.—)> = D B 2
= = S XX D
(o35 =D S &
A. | Distribution 2 " .
_I_ —_—
_I_ —_—
B. | Distribution 3 RN
_I_ —_—
_I_ J—
_I_ —_—
C. | Distribution 1 Bl —
_I_ N
+++ ———
D. Distribution 4 Distribution  Distribution Distribution  Distribution
1 2 3 4

0508193273 S Il Jus
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Q37 | The electric field E” induced along a closed path is related | Jaa lie Jhue Jsb Ao Enindl 7F b 568 Jladl g 5y | 37
to the rate of change of the magnetic flux encircled by the | 1) dabaall 5l rddaleall Ll assal) owdalinal) (803l) jaas
path by the equation: fﬁg e de=_ % L dd,, o
The equation indicates that dt fﬁE cds=——".
A.~| changing magnetic flux induces an electric field. b eS Jae Gilaa) ) peshlinall 3831 a5 35 ()
B. | Changing magnetic flux induces an emf 3l e Andly 5 8 Clan) ) el G S ga s (o
C. | Changing electric flux induces a magnetic field T VORI T e
D. | Changing electric flux induces an emf JF e o) ) oSl @l s g (e
Al yeS dxdla 3 8 Claa) ) Sl eSI @l jss (sa (2
Q38 | positive charge moving in a circular path in an electric OSas ¢l S e (8 5 51 Jluse (8 &l i A o dinl | 380
field, the induced potential difference can be expressed (AVjg=2mr X). 4} o Gl 2gall 358 (o el
as (AV;,=2xr x). What does x represent X Jiay Al
A. | The magnitude of the charge Al HeSl) Ass Bl
B: The radius of the circular path ol sl e Cami(
C. . . -
Induced electric field il il el Jadl(z
D. | Induced current. "

Gaauaall lll(2

0508193273 S Il Jus




Q39 | Aloop with radius (2cm) is put inside magnetic field , Al i undaline Jlae A1 (pw 2) W a8 Caini Adla pag ol | 390
which is increasing as equation B=4t3 Alall 8 Gl AL eI Jladll nlB=4¢3, Alalaall (G
.Calculate the induced electric field in the loop at t=1.1s Gantiaal) Ul sladl daa g Auilit=1.1 2ic
and determine induced current direction

A._+E=3.3N/c ,Il:counterclockwise - -
B. | E=-0.3N/C, I:counterclockwise : °
C. E=3.3N/C ,I:clockwise :
D. |E=-0.145N/C, IL:clockwise . .
Q40 | How is work done on a charge in an electric field fbeS Jlow A aiad e Johdl Jadll clia a3y oK | 400
calculated? Wz§F-d§=q§E-d§.
A | W=q§E-ds
B. W= qEz
C =t
E
D. 4 W=B-ds

0508193273 S Il Jus
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Q41

Which of the following identical

solenoid has the highest inductance?

Silaa o b al 0l ABLial) 4l ol cliladl (e sl

41 0

\i=8.0A li=5.0A ]izl.OA
A. |'solenoid 1
e 1
C. | solenoid 1 Y E ﬁ\ ‘ ‘ 5 ‘{ AL
D. | All of them has the same inductang / Solenoid 1 Solenoid 2 Solenoid 3
Q42 | Calculate the inductance of an air-core solenoid OS 134 200 e s siny A o) cale Blan sl | 420
containing 200 turns if the length of the solenoid is 20 cm 3 cng,.a),i\ azkic dalia 20 cm (sl calddl J gk
and its cross-sectional area is 3 cm?
A. |3.8x1077 H
B. |8.3x107° H
C. | 7.5x10°8H
D 3.8x107°H
0508193273 S Sl Jus 2




Q43 | Which of the following is not unit for inductance failaall san 5 sl Sl Laa gl | 430
A. V.S
A
B. | T'm
AZ
c. | 1
AZ
D. T.m?
A
Q44 | Solenoid coil of 10 cm length and section area of 30 cm? .| 4l 230 cm?2 4xkhic dalis 510 cm Al sk s il 440
his number of rolls is 200 rolls It is upset from the airand | 3 aiad AL 5eS Jli jue oy a5 ol sed) (e 4 a1 48 200
passed through a 3 A electric current Calculate the cilall adaia e jay ‘_53_“ whw\ ) )yl
magnetic flux that passes the coil section .
A. 12.25x10~> Wb
B 13.8x1077 Wb
C. |2.25x1077 Wb
D. |3.8x107°Wb

0508193273 S Il Jus
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Q45 | A solenoid's inductance is equal to (L). Suppose calall Jgha ) (mi8al(1) g st (sl Calall uall Jalaa
that the length of the solenoid is reduced to half its st (lal) Al sh Caai ) mids)
original length, and the average cross-section Lo Ll lalll aae el e cdmiall ) (o pall alaial) Lo
radius is increased to be double, while the number flall Jalaa ke
of turns remains unchanged. How much the
inductance becomes?

A L

B. | 2L
C | 4L
D. | 8L

Q46 | 50 H inductor has s time-dependent current ) a8 miage 8 LS5O H Cune Al cuilS 1) | 4600
flowing through it over a short period of time as Caaall danl g Ainiueal) 4k oSl dndlal) 3 8l lasa Le ol
shown in the graph below. What is the magnitude [“ort® o | t=0.1 s i
of the emf induced by the inductor at time t=0.1 s? g:‘;l

A~ [100V 06
0.5
B, 4200V g:‘;‘
C | 025V 02
D. | 1.4V %0 005 01 015 02 025 0.3 035 04

Time (s)

0508193273 S Il Jus
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Q47 | he graph represent the changes in the potential b o) (b yeSl agall (558 Gl jas Sl s Jl) Jiay | 47
that is produced by an AC generator, which Jiad Ul Y alaall (g €23 fia 3ga Hhas Aol g ead
equation represent these changes? 0l ) el

At | AVind = 12 Cos(8mtt) o rome

B. | AVind = 12 Sin(8ntt)

C- | AVind = 6.0 Sin(4nt) L
D- 1 AVind = 12 Sin(4nt)

Q48 | In the beside figure determine the induced current if : A glall )y 113 il Hlall as ¢ glaall JSEN 8| 480

. Resistance is increased
A. | Clockwise delull @ ie aa ﬁ\
B. | counterclockwise delul o jlie (pSe NN N
C.-" | No current will be induced o b alg Y R
D. | Itis oscillating between clockwise and counterclockwise + I - S =

Ao bl lie A ) ae gpalad) g Ll aau,y

0508193273 S Il Jus
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Q49 | The graph represents the changes of the current during a Sina A AdlAL Aot 3 8 JOA Ll &l jued Sl sl Jiay | 490
different time interval in an inductor with inductance of 10 Canall 8 Chatiis 3ga (5 8 ol o W 10 mH Alas 53
mH, whatisthe o . €l oyl 8 daia gall cul il JDIA
magnitude of the maximum induced potential difference in
the inductor during the intervals shown in the graph?
A. 75V + 1CA)
4.0 —
B. 60V -y /\
0 T T 1 11 -
C. 20V .2.0-| 2.0 4.0 \74 8.0
D. 80V Bl t(x 10 3s)
Q50 | Two identical coils are shown in the figure. Coil 1 has a slai¥) & L 1 cald) A e lahtie glale KA & pelay | 900
current i flowing in the direction shown. When the switch | &asy 13 ¢ caladl Je (g a3 Sl 3 Al ~Uida 238 die | i gall
in the circuit containing coil 1 is opened, what happens in : Coil 2 £2 alal) &
coil 2?
A. A A currentiisinduced in coil 2 that flows in direction 1
B. A current is induced in coil 2 that flows in direction 2
C. No current is induced in coil 2. ) Switch \
. . 27
D. | Oscillating between 1 and 2 S=""VG kit

0508193273 LSS JLs
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Q51 | Two coils placed near each other. mutual inductance M=1.5 Aalial) Blad) | ezl lagany (10 0 8lL Gle giaga lala | STom
;I,OI; tshe current in circuit 1 increased from 5A to 25A during IMa el 25 LU el 5 e 1 5550 b k) 5 13 M=1.5 H
.05 S. NN L e
Calculate the induced potential difference in circuit 2 2 300l (8 Ciaall agall (3,8 sl 4056 0.05
aa M0 ol
B. 240V
C. 1.35V Coil 1 Coil 2
D. | 1200v ——

Q52 | What is the direction of the induced current through | sl 8 s jilall 8 4 il jue il jlill oladl ga La | 520
the resistor in circuit B, at the instant of turning on A B_lall Jads
circuit A.

A. INolinduced current will produce. s Js s o ‘m—)
B.2l FromBto A \S 444 5
(-]
C. | Oscillating between A and B (A,B) o il N
|,
D. | FromAtoB )

0508193273 S Il Jus
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Q53 | A long solenoid with circular cross section of radius (r1=2.80cm) o ki Caai 5 3l ahie 55 Jygha dohcala | 530
(r1=2.80 cm) and (n = 290 turns/cm) is inside and s adata ) jual (5 ) gane il AN (awfddln = 290 ) s
coaxial with a short coil with circular cross section of b Ol 235 (AN = 31 )(1rp = 4.90 cm) ) ok Cauas
radius (7, = 4.90 cm) and (N = 31 turns), The current in dﬁa ()-\-mii 22.20) ) ieall (pe il Jamay 0 5l il
t!1e solenoid is |ncrf:ase.d at a constant rate from zero to. Gl b sl s¢all (38 Lo( At= 48.0 ms) ) duie ) 5 i
(i = 2.20 A) over a time interval of ( At= 48.0 ms) . What is ¢ Ll s oL .

o : . oo EOLE s o L) juadll
the potential difference induced in the short coil while
the current is changing
A. 1128.0mV
B. | 3.9mV
'hﬂW‘l)".m\lﬂil)h(} AAAAAAA iy
C. 3.9V r) 1l HH| ’ I
n) lll\mlllhl WO nll unlhmlﬂfw\m
D.
1380 JUVUUY

0508193273 S Il Jus
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Q54 | An alternating current circuit contains an ohmic 13J(R=10.0 Q) ) 4 sl dnslin o 20 jia jliis jila s gind | Do
resistance of (R= 10.0 Q) . If an alternating sinusoidal dad Lad ¢|(t) = 12.0 sin(100.0 1tt) 120yl cus L Led ye
current flows in it: I(t) =12.0 sin(100.0 rtt), What is the (3.0 ms) 2 agadl g Al sl L)
value of the electric current and voltage after (3.0 ms)

Az |1=9.7A , V=97.0V
B. [=7.0A, V=21.0V
C. | 1=5.0A , V=3.0V
D. [=3.0A ,V=5.0V
Q55 | A resistor with ( 3.0 Q) is connected to an AC power 2 yie JEdls e (3.0 Q) el daglie Juagi | 900
source having a peak value of ( V=12.0 V) and LS ol sl £ = 100.0 Hz) 5 (V=12.0 V) 553 dasy
( f = 100.0 Hz) Calculate the maximum current
A. |1.0A
B. 7| 4.0A
Ci 2.0A
D. 5.0A

0508193273 S Il Jus
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Q56

A resistor with ( 3.0 Q) is connected to an AC power
source having a peak value of ( V=12.0 V) and( f = 100.0 Hz).
what is the angular frequency(w)

dagty 23 e i Al jaaa( 3.0 Q) 4 deslis Joa s o
@3 225 58 L( f=100.0 Hz). s5(V=12.0V)) 5.2
f(w)

56~

50.0 rad/s

150.0 rad/s

200m rad/s

o| o 'wle

1007 rad/s

Q57

A time-varying emf source Vemf = 30 sin(30m t) is
connected in series to 15 Q resistor, what is the current
through the resistor at t=2ms ?

O ) g B e ALy 5eS Axdla 5 B8 Huas

L ¢15 Q 4 ia J il Je JaisVemf = 30 sin(307t t)
ft=2ms e dagiall ye LAl s

57

6.6mA

1.5A

5mA

ol = >

0.4A

0508193273 S Il Jus
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Q58

When we close the switch of the circuit shown in the
figure, the electric current and the potential
difference will oscillate through the circuit, which
physical quantity represented by axis Y in the graph
that related to the same circuit?

Léﬁ}cfujéﬁ‘ J\ﬂﬂ‘ u\ﬁd&-ﬁ\‘;ﬁ:\“}d\ﬁ_}a\ﬂ\ CUSA‘)L_'\AJ.&:
Leias 20 A ) Baal) g La 500 o (i i g
8l (el alati Al g Slal) sl Y sadl)

58

A. | The energy stored in the electric field,
Sl Jlaall 8 43 3al 45 jad) 45l ¥y
B. | The energy stored in the magnetic field
=S Jlaal 8 45 Al al jal) aausl) I
C. | The charge between the capacitor plates.
= @il C‘J"M O a3l " .,.-"".

The current intensity that passes through the circuit

sl 8 Ll Ll laie

0508193273 S Sl Jus 36




59~

Q59 | what does the angle ¢ in single-loop circuit with a pslie o (s giadaaly Jluad Al B h sl ) Hlaia L
resistor and a source of time-varying emf ? Cal) pa 3 paie A0L jeS d2dla s B jlaag
A 1300
B. | 909
C. 180°
D. 09
Q60 | - In the LC circuit oscillations, The current changes its JS Ll elad) juaty o[ C 38y cibduds & | 600
direction every ...
A. | Quarter of oscillation 5 9% (]
B. ~| One complete oscillation .
4lalS3 H ga
C.—~1 Half of oscillation So53(=
D. | The current does not change its direction at all B9 ai(z

gl iy ¥l

0508193273 S Il Jus
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Q61 _ _ Jead s W a3 i = 100 sin 200 7t <AC 593 & | 61
In an AC circuit i =100 sin 200 mtt. The time L on 4350 )l
required for the current to achieve its peak value
will be:

A |1
— S
200
B. | 1L
300
C | L
100
D. 1
—S
400
Qb2 | Which formula represent the current induced in a Dlas s a3 Iy A Al el Ll Jia Al depall W | 620
circuit containing a source of time-varying emf? $a )l ga aria Al jeS Andla 5 68
A | i=Vmaxsin{wt-Q)
B -i=Imaxsin(wt+@)
C. | i=Imaxcos(wt-0)
D.

i=Imax sin(wt-0))

0508193273 S Il Jus
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Q63 | The graph represent the voltage phasor through dgall 3l Lo ddaad 8 (5 ) shall aniall Ll syl Jiay e
resistor at some instant, what is the potential O PleSl gl 38 Hlata e caslae JAA AL S
difference throw resistor at this instant? falaalll oaa sie o ladll Ak
A |65V
B 12V 1= U\I
Mo7m
C. |56V ™
D. [ 9.7V |
e equation below. What does X represent in RL TRL il & X Jiay 13le olia] dlalacdll e
circuit? X= IgVgsin(wt) X= IgpVgsin(wt)
A. | The current Sl
B.%.| The voltage sl agall
G- | The power 3 sl
D. | The work Jadi)

0508193273 S Il Jus
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Q65 | What is the equation bellow called? ¢ola) Aalaal) asile | 650

- dPg ) - dd
é. B-ds = poco + [olenc é. B-ds = peso = + ftolenc
. dr . dr
A. | Maxwell-Ampere Law
B-. |-Amperes Law
C. | Gauss's Law
D. | Maxwells Law
Q6 | the (Z) in equation bellow refer to? folial ddlaall & ((Z) Ll 3 ) | 66
§§-d§=ﬁﬂ(z+fenc) §B'ds=ﬁﬂ(z+fenc)
A. | Declining current oadliiadl ()
B. Increasing current A el Jlill(e
C. Permeability constant of vacuum £1,4l Lalewd) ‘39‘5(6
D. | Displacement current A0 31 (2

0508193273 S Sl Jus 2




Q67

Which of the following equations implies that it is
impossible to isolate a magnetic pole?

haall e Jnisall (g 4l ciny 4000 ¥ aleall (e 4
¢ passlinal

67,

A.
E-_ E_F'-'! __ Senc
ED
B. D
Lc«){;'ﬁ.dgz__ﬂ
C. .
B-dA =D
D.

— dd
%B“ﬁ = HOED ?E‘I‘#D!:Enc

0508193273 S Il Jus
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Q68

What does Maxwell’s — Ampere law of induction
state?

CCall L sulla ) 88 oty J3L | 68

A. | An electric field is induced by a changing (onhlinadl gaxill s (3 yh e A S Jlawe Glaa)Gl (i
magnetic flux. . , . Ny .
= e g 2l | cadaill yaed g e ounhalizall Jlasedl i) L
B. |“A'magnetic field is induced by a changing e ) el Bl DS Gk Ge o Jaall '\;fm (<
electric flux or by a current. Ol Bk
C. Producing a rrjagnetic field fro'm ? current . LS (e gmbaling Jlae U (2
D. Producing an induced magnetic field from variable o YU T L
electric field e (Sl jeS dlae s Cnlass phalite Jlae ) (2
Q69 | What is the frequency of an electromagnetic wave of >l Jshall ld dpudaling g 5eSIl da gall 20 55 58 Lo | 69
wavelength (2.00x10~1% m)? (2.00x10~ 1% m)
A. |12.00x10%°Hz
B. | 3.00x10%Hz
C. | 6.00x10%%Hz
D. | 1.50x10%°Hz

0508193273 S Sl Jus "




Q70

In maxwell’s law, what does the letter X represent in

JisnSla (ysild & X Cajall Jiay 13| 70

this equation? = . dx B 3 — ax
G EﬁB-dSZHUEDE ¢ B.ds = pogg o
A. | The displacement current
B.~ | The'the'electric flux
G | The magnetic flux
D. | The electric field
Q71 | Which of the following is in correct about the electromagnetic Sl sally Glay Lot rnia & Lilaa gl | 7o
waves? XEN A REPPRVIN|
A. | The infrared radiation energy less than the red light energy. saaY) g puall A8l (e BB jeaY) Canti g laiy) 48 ()
B. | The microwaves is a type of the electromagnetic waves Anndaling 5 s il sall (e g 53 AR g Sadh SR e (o
C. ) . . . .
The human eye can’t see the ultraviolet radiation i) (3 At gy R g Cpnl) b3 Y (
D. | Gamma rays has the longest wavelength compared to the other ; ; ;
waves G AY) Ola sally 4 )lae (2 50 Jsh Jshal L Lala dad) (2

0508193273 S Il Jus
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Q72

Which of the following is correct about the
electromagnetic waves?

dpnlaline 5 eI s sally (Slaty Lot ranaa L bea gl | 72

A. | Can travel at the speed of light in the vacuum 1A 3 e gl de pu i) o (]
B. _| Can travel through the space only. Laih e Ladl) e i) oS (o
C.—| Consists of two parallel electric and magnetic fields. s ny iy S cllae e iy 55
D. | The magnetic field always in parallel to the direction of Gl s pualivns (b es Callas 00 0550 (€
propagat“‘]g Z\A}AM D) slany ‘2“940 Lala L;.uekw\ Jlaall (.J
Q73 | Find the displacement current in a circular parallel capacitor o 20 okl Caal (g ) sia (g il S A Aa Y s gl | 730
vyith radius 20cm As bes'ide figure The electric O ol Jaal mdahy ¢y glaall JSEN 8 e oa LS
field between the capacitor plates is decrease to 2 V/m.s 2 V/m.s ) S )
A |2.2x10712 A right
B. | 2.2x10 T A right !
== fr—
C 22:2x107** A Left . 9
) |
D | 11.1x107** A left

0508193273 Sl JLs “




Q74 | The displacement current, id, for the charging circular R kil caal 53 g il i) (@Sl jd edal jYI jla | 74

capacitor with radius R shown in the figure is equal to the a8 MY 3 Jpasill LS s gl JSAN 3 a all
conduction current, i, in the wires. Points 1 and 3 are located a ey @Y Ger A see Adle e 35 1 plikail)
perpendicular distance r from the wires, and point 2 is S S e Gpar A gand) dilicll Gty e 2 ddail)
located the same perpendicular distance r from the center of 25 1 Ll xie dulliad) el i r< R, ¢
the capacitor such that r < R.,Rank the magnetic fields at S N S e 3
pointsl, 2, and 3, from largest magnitude to smallest e
.
I
I
= 2
A. |B1>B2>B3 i~
~= | R
B. |B3>B2>8B1 i -
1
C. B1 =B3 > B2 A/R'\
\ :
D. |B2>B1=B3

0508193273 S Sl Jus s




FRQ Questions

A current of 600 mA is flowing in an ideal solenoid, resulting in a magnetic field of 0.025 T inside the solenoid. Then

the current increases with time, t, according to ; (t) = ig[1 + (2_;}}f2] a circular coil of radius 3.4 cm with

N =200 windings is located inside the solenoid with its normal vector parallel to the magnetic field), what is the
induced potential difference in the coil at t = 2.0 s?

Dl a8 caladl Jada Bis 0,025 adad ‘_F...;:\.LL\M Jiae A 5351 Laa ¢ e A ] qu oL el e 600 aad L 8axy
G e (1) bl Jala & giia s il 200 4l 2xe 5 caw 3.4 o kel Caal 5 iy el ey i(E) = ip[1 4+ (2.4)87] <
() e caldl) 8 Eatial) agall (358 W canhlinal) Jlaall G ) sa (g2 gardl dgatia ¢ 6 ungy ¢ A6l £ = 2,0 a0l

Solenoid

Voltmeter

Coil inside
solenoid

Power supply Ammeler
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An 8-turn coil has square loops measuring (L = 0.100 m) along a side and a resistance of
R=2.00 Q. It is placed in a magnetic field that makes an angle of (40.0°) with the plane of each loop. The magnitude of
this field varies with time according to B(t) = 2.4 t3 , where t is measured in seconds and B in Tesla.
What is the inducéd current in the coil att = 2.00 s?

Jlaa JAld Caua g R=2.00 Q deslias (L =0.100 m)lerla Jsb 4a jo il K& e A 8 (e ) 55 il w“' A B
B(t) = 2.4 ¢3: AUl Aslaall Whg Jlaal) 138 s, Cilall (5 gius 2a (40.0°) Ayl pheay (uhliva
t=2.00 s idaslll vie Cald) 8 Gl Ll Gl

0508193273 S Sl Jus 2



The magnetic field inside the solenoid in the figure changes at the rate of 1.50 T/s. A conducting coil with 2000 turns
surrounds the solenoid, as shown. The radius of the solenoid is 4.00 cm, and the radius of the coil is 7.00 cm. What is the
potential difference induced in the coil?

48l 2000\ (58 Jra 53 ala Jainy 1,50 T/s Jamay JAI & Gl 61 Cald) Jada  endalinall Jlaall jaad,
&357_00(:m alall Hhd Can’i9q.00 cm ‘é_.d)ﬂ\dd\)ﬁt_hajo&\ﬁ;\ cdﬂ‘@wﬁwgﬂjﬂ\ﬂh
alall 8 Caninuall 2gall (3 48

0508193273 S Sl Jus "



Consider an RL circuit with resistance R = 1.00 MQ and inductance L = 1.00 H, which is powered by a 10.0-V
battery. 5313 RL 4agia o 5 §iaiR =1.00 MQ 4ilasy L= 1.00 H %> ssas pe dpagay 10.0-V

a) What'is the-time constant of the circuit? 5_alal) 0dgd cpadl il Gaaal (1
b) If the switch is closed at time t = 0 what is the current at this time t=0 4ball) vie il (o
c)When has a long time passed what is the current? Adish dpla )8 80 2y Lill(z

0508193273 S Il Jus



In the circuit in the figure, R = 120. Q, L = 3.00 H, and Vemf = 40.0 V. After the switch is closed, how long will it take the
current in the inductor to reach 300. mA?

Jadd liad clgl) g oS AL gsl ZUSLY 3121131 | 40.0V 3> 38 e Adgasa 9R=120.Q, L =3.00 H JS&dl; daua galh il (B
300. mA Saall 8 lall Ll

I
Haithy

\ 3

1r'r.-: mf

0508193273 S Sl Jus 50



The current is increasing at a rate of 3.60 A/s in an RL circuit with R = 3.25 Q and L = 440. mH. What is the potential
difference across the circuit at the moment when the current in the circuit is 3.00 A?

il Jgagdiad 35 A B agall 38 L=440. mH &ilaag R=3.25 Q dagliag RL 3 2 3.60 A/s e SLilh-dl iy
50 23.00 A

0508193273 S Il Jus



An emf of 20.0 V is applied to a coil with an inductance of 40.0 mH and a resistance of 0.500 Q.
0.500 Q 4iag8ay 40.0 mH 4Slaw dila o 20.0 Vi Jiae Gab
a) Determine the energy stored in the magnetic field when the current reaches 1/ 4 of its maximum value.
U.A.Ba.“ 4l &) A L Jpa g ais whﬁi.d\ Jlaall gé&.b';d\ AdlLal) s
b) How long does it take for the current to reach this value?
dagdll odd A Jgua sl JLl (§oiiay a3l O S

0508193273 S Il Jus



A 2.00uF capacitor is fully charged by being connected to a 12.0V battery. The fully charged capacitor is then

connected to a 0.25H inductor. Calculate the maximum current in the inductor
Giaally ;S LN Guaal 0.25H Gaiaay Ly Sl 1A Juag . 12.0V 4 kb Jgaga OIS Eua Jalsily ¢ sadia 2,00 FAin) g4 i

0508193273 S Il Jus



A long solenoid has a circular cross-section of radius (9.0cm), and length (17.0cm). The number of turns in one meter for the
solenoid is (3.2X103) and It carries a current (0.5A).
- Calculate the magnetic energy stored n the solenoid.
(0.5A), 1345 Jexy5(3.2X103 ) as) gl yiall & calddl culdd sae (17.0cm4dshs (9.0cm), ok iai 5 5y oa jo ahatadd Jygh o) Cile
ool Calall 8 2 Saal ddulalia) 28Ul Caal
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According to the figure below, the number of the primary coil turns is hidden
Sy adle lala aae pld) 5 J gadl sLaf Jill e lalaie )

-Find the number of turns i) Calall el s i
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The figure shows an oscillating LC circuit. The maximum charge on the capacitor is (9.0uC).
(9,0pC)_d:.'\SAS\ uk- il 5 guall) Aadl) whhi.AJJ.gS Ry da gA [ PRI P KT (WA
A-find the energy stored in the magnetic field of the inductor when the charge of the capacitor is maximum.
(s 5l Lgiad die K dlad 0580 Latie aall panhlitall Jlaal) 8 A3 ) A8UAY) 2a
B- Calculate the energy stored in the electric field of the capacitor when the charge of the capacitor is maximum.
.6 $all) Lgiad i CfiSal) dad ¢ oS0 Ladie Sl Al g <l Jlaall A 4 Al A8l caal

|

E.EI!1[HF=L. o 3,010
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A transformer contains a primary coil with (200 turns) and a secondary coil with( 100 turns). The secondary coil drives
a current | through a (R=1.00-kQ) resistor. If an input voltage (Vemf = 80.0 V ) is applied across the primary coil,

(Vemf = 80.0 V Jusaall 3ga &) cuale 1), (R=1.00-kQ)4agliall oo 1 )L (g o) Cilal) ) oy 481 100 (553N 5 481 200 iy 4Adle Sld! 230 Alar Jgaa
1-What type of transformer Jgaall e ol La
2- what'is the power dissipated in the Resistor? daglial) 8 Badsal) o a8l j)aGa La
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What are the values of I/; and I, in the transformer below ?
JE ALS Jsndl AT, 5 V), alfla

iPrimar-,r Secondary
1 ) o 50
) 5A Iz
300V V2
[ 1500 W 1500 W
)
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power plant that produces(60MW) of power, how much power would be dissipated if the electric current in the
power line was halved?

fCaaill ) 48Ual) Jod a il 5eSU Ll (med &5 13) W i il A8Ual) ik Lo iUl (pa (<) slase B0) g sl jeS a5 ddass
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A transformer has current in the secondary coil is 3.5 A, and the ratio between the number of turns for secondary
coil to primary coil is (5:2):

(5:2) Ay Adla ) (5 oSl Adle il dae duud LS 3] 3,5 A ok g gilil) Adle (B LS Jay Jgaa
A. What is the scientific principle on which the transformer works
Jeaall Jas Tasal alad) faal) La (]
B. What is the type of transformer
Jaall £ 5i La (o
C. Calculate the primary coil current
Ay Calall B el L ual(z
D .If the secondary voltage is 20V ,IS this an ideal transformer

e Jgaall 138 Ja, g 20 (¢ 5 cilall agal) 58 oS 13i(2
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